w4 F 12 BEfl@EREE=AER Gamm)

12 A&
I " =
HEWMNFLE # IE £ 703 +H
1 BB = -
ey EEZHE| THiE Z M | —RREHE
1 #ZEEBE BHRAE FH
E=t2:15) 0

(EXER)
MBI UGS 12 Hﬁﬁﬂii"o)i?’\ﬁiﬁw)ﬂﬁtm
(1.60 H—1 BEefHETD




S 4 FE 12 BEflSFREEAEER (Gamm)

12 A0
# i N =
BMEBAHE (—Ha3Eh) W F AE 49,937 FH
- N EESHE| WHE | 2oft | —&REHE
10;%( %ﬁ Eif ,ZI‘AE\WER 49:‘;537

SFEEERBA
(—H )

2% RBENS
0 HBEEET

=)

(FEH) i |
A4 R SR IS MEBROBE A HET 5.

[E%ﬁ%%]
— A
ey 6, 005+H
BEF4UE 36, 262FH
HEE 5, 7T07FH
& &t 47, 974+FH - (A)
2 SEHEELABE
BEFLE 1, 675FH
HFE 2 8 8FH
& &t 1, 96 3+H - (B)
(A) + (B) = 49, 937FH - (C)
X BERIERITMER L,
(&%)
I %hlgits \ )
XOKEBEEZESH AU TKEEESFT 2R
1 —RES
iy S8 509FH
BB FUE 2, 910FH
HixE 444FH
& &t 3, 863+H - (D)
2 SEHEELABE
BB FUE 167F+H
HxE 32FH
& &t 1 99F+H - (E)
(D) + (E) = 4, 06 2FH - (F)
0 —M&Et + ’FAI&ET
(C) + (F) = 53, 999+H




